CP Algebra 2					Name _________________________
Investigating Graphs of the Form y = abx

Your team will be given four graphs, all of which are graphs of functions of the form y = abx.

Determine which of the following functions match your graphs:
1. y = 2(2)x
2. y = 2(3)x
3. y = 2(4)x
4. y = 3(2)x
5. y = 3(3)x
6. y = 3(4)x
7. y = -2(2)x
8. y = 2(-2)x

Graph No. 1:
Function ______________________
Explanation: ________________________________________________________________
______________________________________________________________________________________________________________________________________________________

Table of Values:
	x
	-2
	-1
	0
	1
	2
	3
	4
	5

	f(x)
	
	
	
	
	
	
	
	




Graph No. 2:
Function ______________________
Explanation: ________________________________________________________________
______________________________________________________________________________________________________________________________________________________

Table of Values:
	x
	-2
	-1
	0
	1
	2
	3
	4
	5

	f(x)
	
	
	
	
	
	
	
	



Graph No. 3:
Function ______________________
Explanation: ________________________________________________________________
______________________________________________________________________________________________________________________________________________________

Table of Values:
	x
	-2
	-1
	0
	1
	2
	3
	4
	5

	f(x)
	
	
	
	
	
	
	
	



Graph No. 4:
Function ______________________
Explanation: ________________________________________________________________
______________________________________________________________________________________________________________________________________________________

Table of Values:
	x
	-2
	-1
	0
	1
	2
	3
	4
	5

	f(x)
	
	
	
	
	
	
	
	



Cut out these graphs.  Leave the name, but cut off the solution.  Give 4 graphs to each team.
2(2X)		P.
[image: ]

2(3X)		R.
[image: ]




2(4)X		F.
[image: ]


3(2)X		H.
[image: ]




3(3)X		G.
[image: ]

3(4)X		S.
[image: ]





-2(2)X		D.
[image: ]

2(-2)X		K.
[image: ]
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